Cisla v mé paméti — gymnazium

Zlomky a desetinna Cisla

1_05: 1_02 Z_04: atd... 1_0.25: 3_-0,75:
2 5 4 4

1_0125 2=0375 2=0625 = .=0875 Pozor:==0,3 % 0,3 = — Pohov!
8 8 8 8 3 10

Druhé mocniny

112 =121 15% = 225 192 = 361
122 = 144 162 = 256 202 =400
13%2 = 169 17% = 289

142 =196 182 =324 252 = 625

Dalsi mocniny

21 =2 26 = 64 31 =3 51=5 63 =216
22 =4 27 =128 32=9 52 = 25 73 = 343
23=38 28 = 256 33 =27 53 =125 83 =512
2% =16 29 =512 3% =81 5% = 625 93 =729
25 =32 210 = 1024 35 =243

Odmocniny

V2 = 1,414; V3 = 1,732; V5 = 2,236; V10 = 3,162
Konstanty

7 = 3,141 59; je ale dobré téz zndt: 3= < m < 3 (co védél uz Archimédés)

e = 2,718 (28);

¢ =1,618 lze také vypocitat: ¢ = V541

2

Pythagorejskeé trojice

32 + 42 = 5% 6% + 82 = 10%; 52+122=13% 82 +15% =172

Razné
1000 =8-125=23.53 1001=7-11-13 2017jeprvocislo 2018 =2-1009

9! = 362 880; log2 = 0,301; log3 = 0,477; In2 = 0,693



